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Time: 3 hours Total marks: 250
SECTION A 8x10=280
Answer all the questions. Answer not exceeding 150 words each

1. Explain the events that lead to conflict between Dheeran Chinamalai and the British
SHyeT  FBIIDeNevHGID, QRIS CowWmHBGHID el Buiwmer  CumIMLLSHBG B HFOF@m
Gloplemeusene  alleurfl.

2. Explain briefly Nehru's International outlook.
Grmaler FFauGhad LTTeme GHBHHI F(HBHIOTE 6T EHd.

3.  Write a detail note on the Civil Disobedience Movement in Tamil Nadu
SOIPHHFH60 FLLIOBIIL| QuIbSSD GBS 61(1DSHIS.

4.  Write a short note on the following Personalities
a. Rettai Malai Srinivasan
b. M.C. Raja
Leiteu(hld LEmemSHeT GBISH FBl GBI UmTs.
a. OrlenL 1emev FeulleuTa e

b. M.C. gregr

5. Estimate the part played by Dr. Muthu Lakshmi Reddy as a Social Reformer.
Dr. @pggieol s QL @@m Fupd FTHmHHTH eaiLGmer HIIG OCFuis.

6. Explain how the Literary works of Subramanya Bharathi Kindled the Patriotism of

Tamils.
urgSwmfler  Qevdhslul  LeLLILS6T eelaumm  albhHenev GCoulemsdemul SO  LD&HS6LLD
SHITEWTIQEN  6TGTLISHEMET el 618 G).

7. Estimate the Role of V.O.C. in the Swadeshi Movement.
F8xd QusbssHH0 ale Fular Lmigemer LHILNBHS.

8.  Write a note on Revolutionary Activities in Tamil Nadu
SOPHTL e YTl ey Cadlweaundlseier OFweoLmhseT GBHal 61(RSHIS.
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SECTION A
PAPER I - UNIT- III: General Aptitude & Mental Ability
Answer all the questions.

9. A metallic sheet in the form of a sector of a circle of radius 21 cm has central angle of
216°. The sector is made into a cone by bringing the bounding radii together. Find
the volume of the cone formed.

R el L&Bsmen eugaled o aiten o Georsrd SHHLIg6T b 21 &5 wBmID ewwuwid
Gamewid 216° ou@b. aul LSHCHTeMI LGHule SImISm6n SemenisHdl 2 (heuTdalIUbBLD
FalDLIGHT ST SIGTeNEIS SHITEI0TE.

10.  Answer the following questions.
Uesteu(hld e o EhdhE allenL wler.

A. In a mixture of 60 L the ratio of acid and water is 2: 1. If the ratio of acid and
water is to be 1:2 then the amount of water in (litres) to be added to the mixture
is
60 LT SHeveweuulsd SIfLSIHBGSWL BHBGWmLBW o 6iten aldsbd 2:1 &b
IOVHHBGD  BHBSGWLCW o een  al@sHma 1.2  oébs  Geuewi(BLOTeIT6L,
sevemaluleyd BaTds Geuemiguwl Hevwrenimel Slena] (VL Lifle0)

B. A man, a women and a boy can do a piece of work in 6, 9 and 18 days
respectively. How many boys must assist one man and one women to do the

work in 1 day?

T Gouemevenl &(H SLewl, e(H Ol LOBMID 6@ ewuwer (WweBGuw 6,9 wmmid 18
BTL&6MeD  (PIQLILITTHET  6lel60  (h SeMID BMBID @ OCUEKIEDID  6186HFHEn6T
emLIWLIGITSH6T HlemewrL|fbamed @h BHreled Geuenevenw! (LpI9sd (LpIQub?
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SECTION -B 8x15=120

Answer all the questions. Answer not exceeding 250 words each

11.

12.

13.

14.

15.

16.

17.

18.

21 Pang

Highlight the differences in the approach of Subash Chandra Bose and Mahatma

Gandhi in the Struggle for freedom.
alppemeoll  BumgmiLgHHed  sutead by Cumed  o@BmId  HMHLH S FHCuimlest
SIS (LPpenpuled 2 6ffen CoumLTBHHemen 6I(LPHIH.

Detying the barriers of age, gender and religion, the Indian Women become the

torch bearer during the struggle for freedom in India - Discuss.

@[_F;ﬁu_l mﬁ]@g,@‘ma)u Gumgm’ L& FHe0, @bHWIL GUERIHAT 6leUaUTB HHIS6T UL, LTeJ6ID
LB  Fowsh HoLsemen LY albhHemev  Geusalenws  ghHeny eSLFH  GHPSHH
alleurgHebHa]Lb.

Discuss the contribution of Maulana Abdul Kalam Azad to pre - and Post -
Independent India

QemeuTEIT  SILJGL H6UMD LFTH BHFHW alBHMeVHE (WD, BhFHu alBHmevHGLI
Werr(ptd eymrilwl UrkiseMilenet aleuTd)soea]Lb.

The Socio - religious reform movements in the 19t century provided a base to the
National Freedom Movement. Explain

19- oub BEIBDBTERIgET Fepd — FFHHHS BWSHSEIB6T BT alBHML BUISSHIHBES
GTelaUTH SIQLILIDLUWITS DIMHSHFH CTRILIHMET GHBIHSH 6@ .

Critically examine Ambedkar’s views on the caste system and discuss the efforts
made by Ambedkar to help remove untouchability.

FTHW Sl GBHH DIDCUSHBMET HHHBHIHMT UITUIHSE, SHEWIL HHITH HETENLOGMUL
oeBB SIDBLSHST BuBosTewiL (WpwBFlsament LB alleurgdaaLb.

Describe briefly the initiative taken by Periyar in the emancipation of Women.
waally Gubum’iypg Guilwmy GuBosreL (PuBHeeT GBISHH SH(HSHHTH alendESHd.

Write a detailed note on Classical Dances and Music of India.
@hywmaler GCgeialuled HL OGS BB eng slwmet GHSH alleuflds 6.

Discuss in Detail the importance of secularism in India.
@bgHwreler gwow grjlaimn GBlss alfleurs alaurglbaal.
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SECTION - B
PAPER I - UNIT- III: General Aptitude & Mental Ability
2x15=30
Answer all the questions.

19.  Answer the following questions.
eTeu(HD e o EhehE aillenL Wler.

A. A farmer wants to fence his circular poultry farm with barbed wire whose radius
is 420 m. The cost of fencing is X12 per metre. He has X30,000 with him. How

much more amount will be needed to fence his farm? (r = %)

Qwm aleusmul, 420 8 SPeLw L algeled  DMWHHHBEGD  CsmL
LewienemiemwF SR, (WeTBaled Simwds aNBHLUBDIT. DSBS @@ WBLLBDHG I 12
alzd GFevaur@d. eufliLid I 30,000 o _siteng) erafled, SIS LRIMNISG (1p6TBaIel

DIMES B elelelene] Lienld GChHeneuliBb? (BmiG ﬂ:g)

B. A and B invest in a business in the ratio 3 : 2. If 5% of the total profit goes to
charity and A’s share is X 855, then the total profit is
A oppib B @meum @wm Osmfed OstLme 3 2 aaip  aldsHHe0  (1PpHeSh
QFuwIgleTenalT. OTHS @euTUuHHed 5% OFHTWIG HBUATHHBEG MDBISILGSBS.
wppid A e ukig I 855 erefled QOTHSH B6OMLID  6TevTen?

20. Answer the following questions.
LeTeu(HD e B 6@ allenl e,

A. A shopkeeper gives two successive discounts on an article whose marked price is
X 180 and selling price is X108. Find the first discount percentage if the second
discount is 25%.

X 180ms ©pss almeowrseipd, I 108 olBumer almeowrsad GCHTew &b
QUTHEDHHGH HMLGHHTTT @Tewihsd OBHTLT HeEHLIQSHMET DieNSHSHBTT. ETewiLTeud
HenepLly 25% etenlled, (PHeO HeTEBHLIGF FHAIHHMBHDH HTWID.

B. A can do a piece of work in 12 hours, B and C can do it 3 hours whereas A and C
can do it in 6 hours. How long will B alone take to do the same work?
A eaaueu] @  Geusmevenws 12 wewl GBIHFHe  (Wiglim. B wspi C 9mpbs
Gouemevemw! 3 wemil CrrHHaID, A wBmid C obs Gouemevenw! 6 wewil GBHyHSeID
Cauwigl wyluy. 9165 Gaumevenwl B saflGui eeisuene) wenil GrysHsled (pigliLimy?
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